
https://www.passapply.com/1z0-1072-20.html
2022 Latest passapply 1Z0-1072-20 PDF and VCE dumps Download

 

 

 

1Z0-1072-20Q&As

Oracle Cloud Infrastructure 2020 Architect Associate

Pass Oracle 1Z0-1072-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-1072-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-1072-20 Practice Test | 1Z0-1072-20 Exam Questions | 1Z0-1072-20 Braindumps                               1 / 5

https://www.passapply.com/1z0-1072-20.html
https://www.passapply.com/1z0-1072-20.html
https://www.passapply.com/1z0-1072-20.html


https://www.passapply.com/1z0-1072-20.html
2022 Latest passapply 1Z0-1072-20 PDF and VCE dumps Download

QUESTION 1

Which two statements are true when Oracle Data Guard is configured (using the Console) between two Virtual Machine
DB Systems deployed in Oracle Cloud Infrastructure? (Choose two.) 

A. Primary is a 1-node RAC DB system and Standby is a 2-node RAC DB system. 

B. Primary is a 2-node RAC DB system and Standby is a 2-node RAC DB system. 

C. Primary is a 1-node RAC DB system and Standby is a 1-node RAC DB system. 

D. Primary is a 2-node RAC DB system and Standby is a 1-node RAC DB system. 

E. Primary is a Bare Metal DB system and Standby is a 1-node RAC DB system. 

Correct Answer: AC 

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Database/Concepts/overview.htm 

 

QUESTION 2

You have provisioned an Autonomous Data Warehouse (ADW) database with 16 enabled OCPUs and need to
configure the consumer group for your application. Which two are true when deciding the number of sessions for each
application? (Choose two.) 

A. The MEDIUM and LOW consumer group can run up to 16 concurrent SQL statements if HIGH consumer group has 0
SQL statements 

B. The HIGH consumer group can run up to 16 concurrent SQL statements as long as MEDIUM and LOW consumer
groups have 0 SQL statements 

C. The MEDIUM consumer group can run 20 concurrent SQL statements when HIGH consumer group has 0 SQL
statements 

D. The HIGH consumer group can run up to 16 concurrent SQL statements in addition to 32 concurrent SQL statements
in MEDIUM and LOW consumer group each 

E. The HIGH consumer group can run 3 concurrent SQL statements when MEDIUM consumer group has 0 SQL
statements 

Correct Answer: CE 

References: 

https://docs.oracle.com/en/cloud/paas/autonomous-data-warehouse-cloud/user/connect-
predefined.html#GUID-9747539B-FD46-44F1-8FF8-F5AC650F15BE 

 

QUESTION 3

You need to transfer over 12 TB of data from on-premises to your cloud account. You started copying this data over the
internet and noticed that it will take too long to complete. Without increasing the costs of your subscription, what is the
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recommended way to send this amount of data to your cloud account? 

A. Use Data Transfer Service to send your data. 

B. Split the data into multiple parts and use the multipart tool. 

C. Use a 10 GB FastConnect line to send the data. 

D. Send the data over a VPN IPsec tunnel. 

E. Compress the data and use the multipart tool. 

Correct Answer: A 

References: 

Overview of Data Transfer Service 

Oracle offers offline data transfer solutions that let you migrate data to Oracle Cloud Infrastructure. Moving data over the
public internet is not always feasible due to high network costs, unreliable network connectivity, long transfer times, and 

security concerns. Our transfer solutions address these pain points, are easy to use, and provide significantly faster
data upload compared to over-the- wire data transfer. 

https://docs.cloud.oracle.com/iaas/Content/DataTransfer/Concepts/overview.htm 

 

QUESTION 4

You are running your warehouse using Autonomous Data Warehouse (ADW) service and you noticed that a newly
configured batch job is always running in serial even through nothing else is running in the database. All your jobs are
configured to run with parallelism enabled. What could be the reason for this batch job to run in serial? 

A. The batch job depends on only one table and parallelism cannot be enabled on single-table queries. 

B. The parallelism of batch job depends on the number of ADW databases involved in the query. 

C. The new batch job is connected to LOW consumer group. 

D. The new batch job runs on database tables that are not enable for parallel execution. 

E. Parallelism on the database is controlled by the application, not the database. 

Correct Answer: C 

 

QUESTION 5

An instance is launched with a primary VNIC that is created during instance launch. Which two operations are true when
you add secondary VNICs to an existing instance? (Choose two.) 

A. You can remove the primary VNIC after the secondary VNIC\\'s attachment is complete. 

B. You can remove the secondary VNIC later if it is not needed. 
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C. The primary and secondary VNIC association should be within the same Availability Domain. 

D. It is not possible to connect two VNICs to an instance. 

Correct Answer: BC 

https://docs.cloud.oracle.com/iaas/Content/Network/Tasks/managingVNICs.htm 
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